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RS 42,607,931 37,666,529 4,941,402
= 16,601,854
z 15,239,700
g 86,000
< 10,680,377
2eargel Jixl HDH(SYMLra/A - AE) 42,572,571 37,631,269 4,941,302
= 16,601,854
= 15,239,700
2 86,000
= 10,645,017
N&obss AgBYIIe A5 8,747,250 6,613,060 2,134,190
= 59,150
= 8,473,700
= 214,400
sExeZE(22) 91,800 119,340 A27,540
= 54,000
= 37,800
403 THXI S S K20 91,800 119,340 A27,540
= 54,000
= 37,800
01 RXSHIZEE 91,800 119,340 A27,540
oOMEXRERE 91,800
= 54,000
= 37,800
MNEMEHOISES (58) 6,232,000 6,470,500 238,500
2 6,232,000
403 XX SHSKHZ0IH 6,232,000 6,470,500 £238,500
2 6,232,000
01 RXSHI=EE 6,232,000 6,470,500 £238,500
OMEMEIOISEA 6,232,000
2 6,232,000
MNEMEBHOISES (BT) 2,241,700 0 2,241,700
2 2,241,700
403 X+XICHAIS KH2 01 & 2,241,700 0 2,241,700
2 2,241,700
01 UXISHT =S 2,241,700 0 2,241,700
OMEMEIOIS T A 2,241,700
z 2,241,700
UAEHTAHZD) 5,150 4,120 1,030
= 5,150
403 XX SHHSAHZO0IH 5,150 4,120 1,030
= 5,150
01 XA =L E 5,150 4,120 1,030
OYHSHH A ZH| 5,150
= 5,150
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UAINTT L YASERIAIL 150,000 0 50,000
403 XHXI GRS K20/ & 150,000 0 150,000
01 RXISHK2SE 150,000 0 50,000
OYYINKIT L BHAIL S X2 150,000
MK DE I8 MEFHEX 26,600 19,100 7,500
202 01t 19,600 1,100 8,500
01 =2Ujoit| 19,600 1,100 8,500
MRS 19,600
203 Y=Y 5,000 5,000 0
03 AIMZR ARSI 5,000 5,000 0
CRENER-EE 5,000
301 YBrEA3 2,000 3,000 A1,000
10 BAAHIEA2 2,000 3,000 A1,000
CRENEEEERE SR 2,000
AE ME - BF DS B 11,513,415 10,802,944 710,471
2 8,755,703
3 1,000,000
£ 86,000
= 1,671,712
NEELELDIEI) 9,802,415 8,893,519 908,896
= 8,505,703
= 1,296,712
202 01t 25,616 8,000 17,616
= 17,934
= 7,682
01 =Uy0i | 25,616 8,000 17,616
OMNHNBUE S YRS 25,616
3 17,934
= 7,682
206 M=l 1,788,738 1,869,753 ~81,015
2 1,788,738
NIE 1,788,738 1,869,753 ~81,015
CRBEEEEERE 1,788,738
2 1,788,738
307 2120/ & 398, 784 350,563 48,201
23 267,273
= 131,511
02 QIAAMBE 398,784 350,583 48,201
O+ SR CHHIE 50,000
2 25,000
= 25,000
CEENNELET 348,784
2 242,273
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= 75,000

403 RXISHSXHZ0IH 325,000 325,000 0
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= 500,000
= 150,000
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403 XHXIEHHSA=01d 1,190,309 1,112,520 77,789

718,158
472,151
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403 RHXISHSR20IH 120,000 0 120,000
01 MXSHAZDE 120,000 0 120,000
Ol2Y SHEXY 120,000
MYMEHRSHE SR EL(2D) 300,000 0 300,000
3 150,000
= 150,000
401 Al&HIL 20| 300,000 0 300,000
3 150,000
= 150,000
01 Al& ] 290,000 0 290,000
ONZMEN2E MBS T4 290,000
3 145,000
= 145,000
03 Al& S CH| 10,000 0 10,000
ONZME2E MBS T4 10,000
3 5,000
= 5,000
S2FELRRI(2D) 644,000 5,000 639,000
= 535,000
= 109,000
201 L2y 2,000 5,000 23,000
03 A2 | 2,000 5,000 3,000
OUIRR25 22X HAX 2,000
403 RHXISH SRZ0IH 642,000 0 642,000
= 535,000
= 107,000
01 RXSHAZBE 642,000 0 642,000
CEE=LT NES St 642,000
= 535,000
= 107,000
HAHMYHSE DS H(2D) 1,000,000 0 1,000,000
= 500,000
= 500,000
401 Al&HIL 20| 1,000,000 0 1,000,000
= 500,000
= 500,000
01 Al&H] 990,000 0 990,000
OBAHMNYHE DT 990,000
=2 495,000
= 495,000
03 Al& S CH| 10,000 0 10,000
OBAEMNPHE DR 10,000
= 5,000
= 5,000




SN
X XH .
S Tt

oLk

NEE-Eh!
2N JHX HDBH(SEHY /LY
N2 5Y

_ _ HE T
M- -A(ZAH) - MEAMY - H e @ﬂOH Hos
TNRE, NAMY L NEHE 20,000 20,000 0
201 Lure gyl 20,000 0 20,000
01 AtR2teltl 20,000 0 20,000
ODREXTH = 20,000
=RZ2A HE 3,551,200 3,586,000 A34,800
= 220,000
= 2,504,000
= 827,200
SAE Z4(2D) 3,255,200 3,227,400 27,800
o 2,504,000
= 751,200
403 X SHH S XH= 0| & 3,255,200 3,227,400 27,800
2 2,504,000
= 751,200
01 IXSHMI=EE 3,255,200 3,227,400 27,800
OEAEXAH 3,255,200
2 2,504,000
= 751,200
TAE AEREEAH(2D) 65,000 236,600 A171,600
= 50,000
[ 15,000
403 X SHHE K20l F 65,000 236,600 A171,600
= 50,000
= 15,000
01 IXSHM2EE 65,000 236,600 171,600
OZAE AHBAXHS 65,000
= 50,000
= 15,000
JE4 xdpel(21) 65,000 78,000 A 13,000
= 50,000
< 15,000
403 X SHH S K20l & 65,000 78,000 ~13,000
= 50,000
= 15,000
01 IXSHI2EE 65,000 78,000 ~13,000
CPJEERS S 65,000
= 50,000
= 15,000
stz XA&(=21) 156,000 33,000 123,000
= 120,000
< 36,000
403 T SHH S K20l F 156,000 33,000 123,000
= 120,000
[ 36,000
01 XXM 2EE 156,000 33,000 123,000
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CEREE 156,000
= 120,000
= 36,000
=0 BO2 GOl YRE BIIRYEA 10,000 11,000 A1,000
202 01t 8,000 8,000 0
01 =Ly 01l 8,000 8,000 0
OUBSEHEY U =XD2YRET 8,000
301 YsrPAS 2,000 3,000 A1,000
10 SAAIHI 242 2,000 3,000 A 1,000
OFAlE =N B 2,000
AT AAE 23 9,267,226 7,713,877 1,553,349
= 4,046,698
= 5,220,508
MZ0Y ERES 234,970 245,470 £10,500
201 Yereg| 217,970 217,970 0
01 ALR2relHl 217,970 217,970 0
ONELTER(Z,0HS) 217,970
202 01t 12,000 12,500 A500
NIETE 12,000 12,500 A500
OMNSHLES U AAES 12,000
203 Y=Y 5,000 5,000 0
03 AlMZ=ZREFY| 5,000 5,000 0
CRERNVET=EESS 5,000
A0 ZAES 3,209,544 3,008,592 200,952
308 XHXIEHHIS Ol & 3,209,544 3,008,592 200,952
01 MHXSHBASES 3,200,544 3,008,592 200,952
O XA EHH AbE 0] 2 & S XI 2 (324 H) 388,800
CRASHASULSSIIA(2,266%) 271,920
©| Ok X| AHZ 2 Al 24U X (93224 ) 1,408,824
OAHZ 0l 2| XH(6CH) 1,140,000
MEXS ZSHBE NS (2D) 5,722,712 4,459,815 1,262,897
=2 3,946,698
= 1,776,014
308 X+XI IS O & 4,752,903 3,022,827 1,730,076
=2 3,277,864
= 1,475,039
01 MXSHAZAHEES 4,752,903 3,022,827 1,730,076
CIERISE 4,752,903
= 3,277,864
= 1,475,039
403 RXISHSKHZO0IH 969,809 1,436,988 A467,179
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= 668,834
= 300,975
01 XXM A2 969,809 1,436,988 A467,179
O&t=2 XICH 2 969,809
= 668,834
= 300,975
A AEIACIETI R (2 1) 100,000 0 100,000
= 100,000
308 XNXISHHMSOIE 100,000 0 100,000
= 100,000
01 UXISMB & 100,000 0 100,000
O A2l MHIA QI 100,000
= 100,000
HE2AAU (ASH M) (DIEHDIE) 35,360 35,260 100
Jl=&Hl 35,360 35,260 100
FA2E Jl=Z | 35,360 35,260 100
201 Let2d| 24,720 24,720 0
01 AtE22|H] 22,720 22,220 500
ORN2Z AR 2l 22,720
02 =234l 2,000 2,500 A500
ORNM2ZE E25=2¢ 2,000
202 O4Hl 8,640 8,640 0
01 =W 8,640 8,640 0
oRA2Y 2ol 8,640
405 AHoHESHI 2,000 1,900 100
01 T =S H SHI 2,000 1,900 100
©2|XH(100H) 1,500
OHEI(1U) 500




